S Nudge bar
Mba Fitting Instructions
‘h‘eme Forester 13-on

]\/\anufac’rwers of Subaru Accessorvies

NBSP-058

1. Open bonnet.

2. Remove the original plastic bumper
and grill.

3. On the right hand side of the
reinforcement bar, remove the 4
original bolts then slide the right
hand mounting bracket over the
reinforcement. Using 4 of the M8
bolts and washers supplied, tighten
down the brackets.

4. Repeat for left hand side.

5. Carefully refit the original plastic
bumper, sliding over the protruding
brackets.

Note: the brackets are a tight fit!

6. Fit nudge bar to vehicle, loosely bolt in
place using supplied 4 x M12 bolts,
nyloc nuts & 8 washers.

7. Align as required and tighten bolts.

Components

¥ aav

1 - Aluminium Nudge Bar Tight fit!
2 - Steel mounting brackets

1 - Fitting instruction

4 - M12 bolts

4 - M12 nyloc nuts

8 - M12 washers

8 — M8 bolts

8 — M8 washers

Revised October 2016



